(1E)

B £ W RE
wem | s | fEES | EmEE | mmmh | eomn s TR -
(FMER) (ha) (ha) (ha)
= S mA HE
T M 241 (% 2N (5) 4.24 0.04 420 | R7.6.1 R7.10.31 - —  |BERLIrOREN
T N 241 5 2N (5) 3.01 301 | R76.1 R7.10.31 - — R R
T M 242 b £N(3) 11.98 1198 | R76.1 R7.10.31 - —  |BEmLIorOREN
T N 247 < 20 (3) 1.11 0.04 107 | R76.1 R7.10.31 - — Rt oA
T M 274 75 2N (2) 1.16 116 | R7.6.1 R7.10.31 - —  |BERLIrOREN
T M 219 % 20 (3) 7.13 0.74 639 | R7.6.1 R7.10.31 — — R oRR
T 279 o £N(3) 2.70 270 | R7.6.1 R7.10.31 - —  |BERLIorOREN
T M 219 5 2N (5) 2.09 0.17 192 R76.1 R7.10.31 — — R oRR
T M 284 (% 2N (5) 2.19 0.89 130| R7.6.1 R7.10.31 - —  |BEmLIorOREN
T M 225 b 2N (5) 5.04 0.08 496 | R7.6.1 R7.10.31 — — Rt oRR
5 40.65 1.96 38.69
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wxm | owem | ERES | Eem | mRmm | eemn s e
(FMER) (ha) (ha) (ha)
B = h e
T M 241 (% 2N (5) 4.24 0.04 420 | ZGEEEAOZAE R8.3.13 B oni
T M 241 5 £X(5) 3.01 301 | FEEOER | R8313 AN
T M 242 b £N(3) 11.98 1198 | ZHHEEEOEH R8.3.13 i A
T N 247 < 20 (3) 1.11 0.04 107 | ZHFHEOEH R8.3.13 AN
T M 274 75 2N (2) 1.16 116 | ZiwBEOZEA R8.3.13 R
T M 219 % 20 (3) 7.13 0.74 6.39 | ZukEEROZA R8.3.13 AN
T 279 o £N(3) 2.70 270 | ZigEEEAOZE R8.3.13 i A
T M 219 5 2N (5) 2.09 0.17 192 | RO EA R8.3.13 AN
T M 284 (% 2N (5) 2.19 0.89 130 | 2RO ZEAR R8.3.13 A
T M 225 b 2N (5) 5.04 0.08 496 | ZfokEEROZA R8.3.13 AN
B 40.65 1.96 38.69




